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NEW QUESTION 1

A company has requested assistance with a new cross-site failover design to support business-critical applications.

* It has two sites when are very well-connected, and latency is less than 5ms round trip.

» The customer requires that its applications be restarted even in the event of a total site failure.

» The applications must be kept online even when migrated during maintenance.

* Storage arrays at either site support both synchronous and asynchronous replication. Which two options are accurate application requirements for this scenario?
(Choose two.)

A. The design must ensure continuous application uptime even during a total site failure.
B. The design must prioritize application availability.

C. The design must ensure application recoverability at the second site.

D. The applications are latency-sensitive.

Answer: BC

NEW QUESTION 2

A company is consolidating its IT operations efforts by moving the Finance, IT, and QA departments towards a self-service environment, following SDDC best
practices.

« All departments have different priorities and expectations for uptime of the required infrastructure and applications.

* Project stakeholders are still discussing final approvals for the budget wan the CFO.

* To drive down the operating cost of the environment, only blade servers will implement this project.

» To ensure business continuity, a colocation provider was chosen to fail over virtual machines.

» The implementation of the project will follow a public reference architecture provided by VMware. What is the assumption in this scenario?

A. The chosen architecture is sufficient.

B. All departments demand different SLAs.

C. Final budget approvals are being discussed.

D. The environment will be shared by several departments.

Answer: A

NEW QUESTION 3
When implementing update policies for the vSphere environment, which would be the VMware-recommended way to update the vCenter Server Appliance (VCSA)
when an underlying operating system (OS) patch is released?

A. Introduce a policy that requires a system administrator to check if a new appliance update (which might include an OS update) is available from the downloads
section of MyVMware portal, and follow the VCSA documentation to apply the update.

B. Do nothing - the VCSA applies all OS updates automatically without any human interaction.

C. Introduce a policy that requires a system administrator to go online and check with the OS vendor to see if a new version is availabl

D. If itis, download it manually, log in to the VCSA with the root credentials, and proceed with the OS update.

E. Configure VMware Update Manager to download the OS update and apply it on a scheduled basis.

Answer: A

NEW QUESTION 4

The customer has two sites that must operate independently of each other in the event of a WAN failure. During normal operations, administrators from each site
must be able to manage the other site through the vSphere Web Client.

Which vCenter Server Appliance (VCSA) and Platform Services Controller (PSC) diagram shows the VMware-recommended design that satisfies these
requirements?
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A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Answer: D

Explanation:
https://www.opvizor.com/understanding-the-impacts-of-mixed-version-vcenter-server-deployments/

NEW QUESTION 5

A solution architect has been tasked with designing a new environment that meets the needs of a growing company, and has obtained this information:
* The current capacity will be exhausted in 180 days, and the new infrastructure must be deployed and in production prior to that.

» The new servers have a 90-day delivery time.

* A data center for disaster recovery has been selected, and it is 20 miles away and connected by MPLS.

» The security team will continue to utilize its current investments and VM Encryption for the new environment.

» The backup team currently uses Data Domain, and reports show an 8:1 compression and deduplication ratio for backups.

Based on the information obtained, which two statements are risks for the new design? (Choose two.)

A. MPLS will be used to connect the two data centers.

B. The Change Advisory Board will approve all changes.

C. Current back up space will not be sufficient if using VM Encryption.
D. The current firewalls will support the additional workloads.

Answer: AB

NEW QUESTION 6

A company provides critical financial and statistical data for several major banks.

» The company ensures that the bank's customer data is secure and that analytics data is available when needed.

» Customers rely on this data before making crucial business and financial decisions.

« Just a few minutes of downtime can result in loss of revenue and trust.

» To meet high-availability requirements, the company's IT infrastructure components must be redundant.

» The company established three data centers across the globe and interconnected them with high-speed WAN links.

* Due to the rapid growth of its customers and their increasing demands, the compute, network, and storage

were procured and managed by the company's enterprise system administrators group. What are its two key challenges? (Choose two)

A. Data centers across the globe possess manageability problems.
B. Availability of business applications must be ensured.

C. Regulatory requirements must be met.

D. Hardware-defined data centers have limitations.
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Answer: AD

NEW QUESTION 7
After the vSAN iSCSI Target service is enabled, which statement about iSCSI networks is true?

A. A separate VMkernel interface may be configured per target.

B. A single VMkernel interface must be selected for all iISCSI targets.

C. The vSAN iSCSI Target service always uses all Management VMkernel interfaces.
D. The vSAN iSCSI Target service always uses the vMotion network.

Answer: A

NEW QUESTION 8
A company is outsourcing its support operations to an external service provider and plans to complete the project by April 1.

» The external Support engineers must have the ability to power cycle, create, and edit virtual machines settings within their assigned vSphere site.
» The company maintains three vCenter servers in Enhanced Linked Mode that are run as virtual machines in the supported infrastructure.

» The vCenter servers will be supposed by the external service provider.

« Each vCenter server is connected to its own local Platform Services Controller and MSSQL database server.

» The company will provide escalation support and physical access on a per request basis.

* 99.9% ESXi host uptime is required in this environment, but no SLA has been specified for the hosted applications.

Drag each statement to its appropriatg concept.

ke

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Risk --> Missing the April 1 deadline...
Constraint --> Remote support...
Assumption --> The company is...
Requirement --> The SLA allows for..

NEW QUESTION 9
An organization's security policy requires a design where the ESXi hosts will be manageable only through vCenter Server.
Which two security configurations will help meet this requirement? (Choose two)

A. enable lockdown mode strict
B. disable DCUI access

C. enable lockdown mode normal
D. disable shell access

Answer: AD

NEW QUESTION 10

A virtualization administrator has been tasked with migrating several business applications from physical to virtual. The administrator must also migrate the virtual
machines from VMware Workstation to vSphere 6.5, using vCenter Converter Standalone 6.1.

In this scenario, when two source types are supported? (Choose two.)

A. powered-off Windows Server 2008 physical machine
B. powered-on Windows Server 2000 Workstation virtual machine
C. powered-off Windows Server 2008 Workstation virtual machine
D. powered-on Windows Server 2008 physical machine

Answer: CD
NEW QUESTION 10
Customer Information

The Customer Labtown has a new vSphere 5 environment with one of their line of business applications recently being virtulized. Labtown requires that their
Webserver, Database Server, and Fileserver for their line of business app be created into a vVAPP. The VM's should start up in a specific order to insure the
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application starts correctly after an outage or reboot. Labtown also wants the best performance possible out of each VM. There is three hosts in the cluster each
running the same CPU and Memory specifications. each host is running at 60% utilization right now. Labtown doesn't have any budget for more hosts.

Create a logical vAPP design for Labtowns Line of Business Application Requirements

- The server must boot in the following order: DB, Fileserver, WebServer

- Each VM must perform the best it can with the current cluster configuration Instructions

- Place the three VM's on the VAPP

- Place the boot order boxes ontop of each VM to indicate the VM's boot order

- Place the VM stencil for each VM in the DRS rules section if you wish to apply DRS rules to the design

- As long as VM's are on the VAPP stencil marks will be scored

See the solution below

A. Mastered
B. Not Mastered

Answer: A
Explanation:
Check below for answer solution
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NEW QUESTION 11

A company is implementing a new cluster to support its end user desktop workloads.

» The workload is required to support 200 virtual machines.

» Each end-user desktop is configured with two vCPUs, 8GB of RAM, and 40GB of thick-provisioned disk space.

* The architect has expressed concerns that virtual machine swap files will till the 8.5TB datastore available to the cluster.
Which two strategies would address the architect's concern? (Choose two.)

A. Configure an additional datastore for snapshot storage
B. Configure an additional datastore for vswap file storage
C. Configure each virtual machine with a 4GB memory reservation.
D. Configure each virtual machine with a 8GB memory reservation.

Answer: BD

NEW QUESTION 13

A company is a leading provider for an online travel booking system with over a $1,000,000 turnover each day. The company warns to leverage VMware cloud
solutions to consolidate, scale, and ensure high

availability for all of its data centers.

Match each business requirement to its appropriate design concept.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Performance --> Infrastructure must be properly provisioned...Recoverability --> Design should require less than 5' to restore...Security --> WAN links
between..Manageability --> DCs should be administered by a centralized consoleAvailability --> Architecture must support DC level resiliency

NEW QUESTION 18
In the vCenter HA configuration below, drag the two correct components to the blank boxes in this diagram. The same component may be used more twice
(Choose two.)

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Platform services controller

NEW QUESTION 20

You have been tasked with creating a vSphere 6.5 data center design for an organization. The organization has identified a number of challenges that occur within
their current infrastructure that they would like addressed in the design. For each challenge, determine the vSphere technologies that could be used in the design.

Match each Challenge on the left by dragging the red Challenge buttons (C1-C4) over the appropriate Technology.

Challenge

)

'We can test often enough to determine if a
solution is plausible.

Technology

vSphere HA

Managing the recovery and relocation of
our current servers is a manual process.

vSphere Fault Tolerance

We continue to lose money due to frequent
application server crashes.

vSphere Data Protection

Virtual Machine Snapshots

Server maintenance causes excessive
application downtime.

VMware vSphere vMotoin

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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Challenge Technology
|

'We can test often enough to determine if a | vSphere HA L C4 |
solution is plausible.

vSphere Fault Tolerance m

Managing the recovery and relocation of

lour current servers is a manual process. .
| 2 PRYS vSphere Data Protection

[
We continue to lose money due to frequent |
application server crashes.

Virtual Machine Snapshots

VMware vSphera vMotoin m

IServer maintenance causes excessive
application downtime.

Distributed Resource Scheduler

Virtual Machine Cloning

vSphere Update Manager El

NEW QUESTION 25
You are a platform designer constructing a physical design from an existing approved logicaldesign. Out of the vendor proposals, there are two proposed solutions
that could be used. Which of the following options is the most important factor when making a decision?

A. Community and vendor-based best practices
B. Existing vendor relationships

C. Project requirements

D. Project budget

Answer: C

NEW QUESTION 28

The hardware operations team is planning to purchase new ESXi hosts for the upcoming budget year and is requesting recommendations on the type of servers to
purchase for a web application. The web application consists of hundreds of small virtual machines (1 vCPU and 8GB of RAM) that are members of a software
cluster.

The solution should have these abilities:

» recover from ESXi host hardware failures

» zero downtime for a limited number of critical virtual machines (VMs)

» migrate running VMs between ESXi hosts without interruption to the operating system

« perform these functions using VMware ESXi servers, vCenter Server, and high-speed network interfaces What are the three functional requirements and their
associated VMware technologies? (Choose three.)

A. automatic restarts of failed VMs (vSphere HA)

B. high speed network interfaces (vSphere Distributed Switches)
C. ability to migrate running VMs (vSphere vMotion)

D. fault tolerance for limited number of critical VMs (vSphere FT)
E. VMware ESXi Servers (vSphere Auto Deploy)

Answer: ACD

NEW QUESTION 29

An organization is trying to determine whether it should use the Windows version of the vCenterServer or use the vCenter Server Appliance (VCSA). The
organization will be using an externalOracle database, and it will manage about 30 ESXi hosts and about 200 virtual machines on 1

vCenter Server, but it would also like to see another group's vCenter Server from the samevSphere client window. Which type of vCenter Server should it use, and
why?

A. The vCenter Server Appliance (VCSA) because it can be used with Oracle
B. The VCSA because it can support 30 ESXi hosts

C. The Windows version because it can support Oracle

D. The Windows version because it can support Linked mode

Answer: A

NEW QUESTION 32

A company has one data center site running 50 hosts and 400 virtual machines and requires a vSphere 6.5 design.
1. The CIO wants to add a secondary site for Disaster Recovery (DR) with A hours RPO.

2. The application developer is concerned about anticipated growth as several new projects begin.

3. The CISO is worried about data leaks and theft.
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4. The CTO would like to buy new servers with better specifications and higher consolidation ratio.
Determine the critical requirements for each of the key stakeholders. Some requirements might have more than one stakeholder.

—_———

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Client ClODisaster RecoveryBusiness ContinuityData IntegrityClient CTOCostPerformanceClient DeveloperPerformance

NEW QUESTION 34

You have been tasked with creating a vSphere 6.5 design for an organization. The organization is looking to implement a Virtual SAN into their environment. You
have been tasked with determining whether a given Virtual SAN logical design decision meets the technical requirements of their infrastructure.

For each Design Decision on the left drag the red Decision buttons (D1-D8) on the right and place it on the proper Technical Requirement.

NOTE: Not all Design Decisions will be used.

DES'QH Decision Technical Requirement
2 each 1 Gbps NICs Data Availability

228 |2 each 10Gbps NICs

o
L

FIT=2 Throughput

259 | 4 hosts 2U each + 1 Blade server

D5

4 hosts 41 each White Performance

D6 4 hosts 2U each + 2 Blade servers

Stripe Width = 1 Cluster Size
B} ;
Stripe Width =3
A. Mastered

B. Not Mastered
Answer: A

Explanation:
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Design Decision Technical Requirement

(D1 ) 2 each 1 Gbps NICs Data Availability

(D2 J D5 J D8

m 2 each 10Gbps NICs

FiT=2 Throughput
| D6 |

4 hosts 2U each + 1 Blade server

4 hosts 4U each Write Performance

B C3 @3

m 4 hosts 2U each + 2 Blade servers

Stripe Width =1 Cluster Size

Stripe Width = 3

NEW QUESTION 35

A company has developers located in Eastern Europe (EE) and a QA Department in Bermuda.

» The company is planning to create an environment based on a blueprint of 4-8 virtual machines for each of the developers and one for every QA project.
» The proposed configuration will allow each developer to work independently and be able to collapse and re-create the environment as needed.

* QA Teams will be able to recreate the environment that is required for a specific application.

« Individual virtual machines in the blueprint are being continually updated with newly available software packages.

» The company is planning to use the vSphere Content Library to store images and synchronize them between sites.

Which four supported configurations can the company implement? (Choose four.)

A. EE and Bermuda libraries that are backed by an NFS file system.

B. EE and Bermuda vCenter Servers with Enhanced Linked Mode.

C. FTP protocol to transfer data between published in EE and subscribed in Bermuda libraries.

D. Published library in EE backed by an NFS file system while subscribed library in Bermuda is backed up by datastore.
E. A minimum 10 GbE connection between EE published and Bermuda subscribed libraries is required.

F. EE and Bermuda vCenter Servers without Enhanced Linked Mode.

Answer: ABDF

NEW QUESTION 39

A company has requested a new vSphere 6.5 design that will allow it to finally break the 80% virtualization barrier by virtualizing its resource-intensive application.
 The application is highly available by design and includes application-aware clustering software capable of operating as a fully distributed system.

» The company's Application Version 2.0 consists of 386 small applications and middleware with non-persistent storage and 24 database virtual machines at each
data center.

» When coupled with a proper load balancing solution, this application can continue operating even with the loss of an entire data center, but the small applications
and middleware tiers within a data center must exist within the same broadcast domain.

» The database tier is tightly controlled with a firewall policy that only allows middleware tier access, and is replicated to other sites using a dedicated circuit.
Which two application requirements apply to this scenario? (Choose two.)

A. The application will require the configuration of an IGMP stub and helper.

B. Shared storage is required by the application clustering software.

C. The application will require one large subnet.

D. The application will require a method of balancing and recovering sessions between sites.

Answer: BC

NEW QUESTION 40

Customer Requirements:

You have been tasked with creating a vSphere 6.5 data center design for an organization. The organization wants three defined virtual machine performance
levels:

- Gold Tier — High workload VMs

- Silver Tier — Medium workload VMs

- Bronze Tier — Development workload VMs

The organization has eight ESXi hosts that can be used in the design. Five of the hosts are older “medium performance” hosts, while the last 3 are newer “high
performance” hosts that provide better resources when compared to the other hosts. The organization has provided a list of requirements that the design must
meet:

- Gold Tier virtual machines should run only on high performance servers, unless no high performance servers are available. They should also be allocated 75% of
overall available resources regardless of placement.

- Silver Tier virtual machines should run only on medium performance servers, unless no medium performance servers are available. They should also be
allocated 25% of overall available resources regardless of placement.

- Bronze Tier virtual machines should run only on medium performance servers. They should also receive a 35% subset of resources from those allocated to the
Silver Tier.

Design Requirements:
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Create a logical design that shows resource allocation and cluster policies needed to meet the customer’s requirements. The design should include:

- All required server(s)

- All required resource(s)

Place host(s) in the required DRS group(s). Place virtual machines in the appropriate resource pool(s). Connect parent to child resource pool connector(s) where
needed. Connect the appropriate affinity connector(s) where needed.

Virtual Objects

Virtual Machines ~— Medium Performance Hosts ~— >
'Resource Pool Percentages Low Performance Hosts
Connectors

Virtual Objects High Performance Hosts
Virtual Machines

'Resource Pool Percentages Low Performance Hosts

Connectors

Virtual Objects High Performance Hosts

Virtual Machines % Medium Performance Hosts ~— >

'Resource Pool Percentages

Connectors

Hardware Objects

Virtual Machines ~— DRS Host Group
Resource Pool Percentages DRS VM Group
Connectors
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Hardware Objects
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Hardware Objects

VirualObjects | Resource Poo

Virtual Machines ~ DRS Host Group —
Resource Pool Perceriages [ BREVMGBU NI
Connectors

'Hardware Objects

s o e
A > e

|
'Resource Pool Percentages Bronze Tier VMs

| .

Connectors

!

'Hardware Objects

|

Virtual Objects Gold Tier VMs
ViualVachines | SierTervMs
i

'Resource Pool Percentages Bronze Tier VMs

Connectors

|

'Hardware Objects

|

Virtual Objects Gold Tier VMs
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Hardware Objects
Virtual Objects
Sixty-Fiv
Virtual Machines e ixty-Five Peroent —» 75%
Thirty-Five Percent
Twenty-Five Percent
Connectors 4
Hardware Objects
Seventy-Five Percent
Virtual Objects v
Virtual Machines — 65%
Thirty-Five Percent
Twenty-Five Percent
Connectors 4
Hardware Objects
Seventy-Five Percent
Virtual Objects v
Sixty-Fiv
Virtual Machines e ixty-Five Peroent — 35%
Twenty-Five Percent
Connectors 4
Hardware Objects
Seventy-Five Percent
Virtual Objects L
Sixty-Fiv
Virtual Machines — ixty-Five Peroent —  25%

Thirty-Five Percent

Connectors
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| Hardware Objects

Virtual Objects

Should Run Affinity Connector

Virtual Machines

Must Run Affinity C ct
Resource Pool Percentages R nily Gonnector

Hardware Objects

Parent to Child Resource Pool Connector

Virtual Objects

Virtual Machines )

Must Run Affinity C ct
Resource Pool Percentages st iRun Atlinity Connector

| Hardware Objects

Parent to Child Resource Pool Connector
Virtual Objects

Should Run Affinity Connector

Virtual Machines

Resource Pool Percentages

A. Mastered
B. Not Mastered

Answer: A

Explanation:
Check below for answer solution

Virtual Objects High Performance Hosts

Virtual Machines

'Resource Pool Percentages Low Performance Hosts

Connectors
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Hardware Objects

Virtual Machines ~ DRS Host Group —_—
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Connectors

Hardware Objects
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|
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|
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| Hardware Objects

Seventy-Five Percent
Virtual Objects v

Sixty-Five Percent

Virtual Machines — — 35%

Twenty-Five Percent
Connectors 4

| Hardware Objects

Virtual Objects

Should Run Affinity Connector

Virtual Machines
Must Run Affinity Connector

'Resource Pool Percentages

| Hardware Objects

Virtual Objects Parent to Child Resource Pool Connector

Should Run Affinity Connector

Virtual Machines

'Resource Pool Percentages

NEW QUESTION 42
Match the business statement to its appropriate concept.

P

gt [
' I '\] I::|FH’.":'

W ||i,;f A
”||1'|i ||".|f|'".|.

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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NEW QUESTION 47
A customer has requested a high availability option for its data center in the event of power failure and the loss of connectivity to a virtual machine.
Which three vSphere features support fault tolerance? (Choose three.)

A. HA

B. Virtual volume datastore

C. vMotion

D. Storage-based policy management
E. DRS

F. Virtual machine snapshots

Answer: ACE

NEW QUESTION 50
A company would like to leverage snapshot technology on vSphere 6.5. Which configuration supports taking snapshots?

A. Windows Failover Cluster VM with RDM in virtual mode
B. vSphere Fault Tolerance VM

C. Windows Failover Cluster VM with RDM in physical mode
D. SQL Always On Availability Group

Answer: A

NEW QUESTION 53

A customer is virtualizing a mission-critical Microsoft SQL database and needs a configuration that provides optimal NUMA performance.

» There are two possible clusters that the database virtual machine could reside in: Cluster A is vSphere 6.0 and Cluster B is vSphere 6.5.

« All ESXi hosts contain dual Intel Xeon E5-2650 v3 processors (ie: 2 socket, 10 cores per socket) and 256Gb RAM with vNUMA in its default configuration.
Given this scenario, which three statements are true? (Choose three.)

A. Enabling CPU Hot Add on a virtual machine will disable vNUMA.

B. Placing a 10 vCPU VM in Cluster A and configuring it with 2 Sockets and 5 Cores Per Socket will result in 2 vYNUMA nodes.
C. Placing a 10 vCPU VM in Cluster B and configuring it with 2 Sockets and 5 Cores Per Socket will result in 2 vNUMA nodes.
D. Enabling Memory Hot Add on a virtual machine will disable vNUMA.

E. Placing the VM in Cluster B and configuring it with 5 Sockets and 2 Cores Per Socket will result in 1 vNUMA node.

Answer: ABC

NEW QUESTION 56
Drag each option to its appropriate concept.

|
"
=T I

ll.
4

A. Mastered
B. Not Mastered

Answer: A
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Explanation:
Risk --> DC facilities are at capacity end...Requirement --> Existing change management guidelines...Constraint --> App licencsing costs must be

minimizedAssumption --> vsphere 6.5 features will meet the...

NEW QUESTION 59
A customer is using a vSphere APIs for Storage Awareness (VASA) compatible storage array. The VASA provider is published as a virtual appliance.
To ensure recoverability, where must the VASA prowler and vCenter server virtual machines be stored?

A. The VASA provider and vCenter Server will be placed on the standard datastore (VMFS, NFS).

B. The VASA provider and vCenter Server will be placed on the vVol datastore.

C. The vCenter Server will be placed on the vVol datastore and the VASA provider will be placed on the standard datastore (VMFS, NFS).
D. The VASA provider will be placed on the vVol datastore and the vCenter Server will be placed on the standard datastore (VMFS, NFS)

Answer: A

NEW QUESTION 64

You have been tasked with creating a vSphere 6.5 center design for an organization. The organization is currently evaluating vSphere network technologies that
can be utilized with their existing infrastructure. Evaluate each statement provided through requirements gathering and determine the network technologies that
can be used to meet that requirement. The technology(s) chosen should be limited to what is needed to meet, but not exceed, the given requirement.

Match Statements on the left by dragging the red buttons (S1-S6) over the text of the appropriate Solution. NOTE: Statements can match more than one Solution
or none at all.

Statement Solution
iThe design should be able to support six
I[ESXi hosts, four porigroups, vMotion, and vSphere Standard Switch
liISCSI.
:WE plan to add ten additional VLANSs to our
Iphysical network to allow communication to vSphere Distributed Switch

iour remote office over a site-to-site VPN.

EWE plan to utilize Link Aggregation in the
{future, and integrate traffic monitoring into our Viware NSX
iexisting NetFlow configuration.

.r"ur"ie would like to load balance our VM traffic,

;;and we want to segment traffic with separate FVLANSs
gateways for hosted customers.
mhﬁe want to determine if our infrastructure can
support virtual machine migration over long Multiple TCP/IP Stacks
distance. ;

E;We would like to gain greater control over our
lindividual traffic types, and are thinking of
Eadditing Network 'O Control to the design.

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Statement Solution

iThe design should be able to support six .
[ESXi hosts, four portgroups, viMotion, and vSphere Standard Switch ml
(ISCSI.

573 We plan to add ten additional VLANS to our
-!phi.rsi:al network to allow communication to vSphere Distributed Switch El
iour remote office over a site-to-site VPN.

iWe plan to ufilize Link Aggregation in the
ffuture, and integrate traffic monitoring into our Viware NSX
lexisting NetFlow configuration.

-r"u"'nfe would like to load balance our VM traffic,
!and we want to segment traffic with separate PVLANS
}gateways for hosted customers.

;LWe want to determine if our infrastructure can ,
support virtual machine migration over long Multiple TCP/IP Stacks  [JEEI)
distance.

miwle would like to gain greater control over our

lindividual traffic types, and are thinking of
radditing Metwork /0 Control to the design.

NEW QUESTION 67
According to VMware-recommended best practices, on which cluster should each of the services be placed?
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A. Mastered
B. Not Mastered

Answer: A

Explanation:
ManagementDNS ServersVCSAAD DomainNTP ServersResourceMS ExchangeMS SQLApache Web

NEW QUESTION 72

You have been tasked with creating a vSphere 6.5 data center design for an organization. During the key stakeholder and SME interviews. a set of goals,
requirements, assumptions and constraints were identified. Evaluate each of the requirements, assumptions, and constraints (RAC) and determine which design
characteristics apply.

Match each of the Requirements, Assumptions and Constraints by dragging the RAC buttons (R1-R5) over the text of the appropriate Design Characteristic.
NOTE: RACs may fit one or more of the Design Characteristics.

RAC Design Characteristic
All hosts per location are configured
umiformly and all differences or changes Availability
are tracked.
38 The implementation should be easily R
repeatable. Manageability

Deployment of system and services should
be automated. Performance

¥ The custom order processing system
al the primary site must be kept running Recoverability
with no downtime.

A58 | All production servers should be

segregated. Security

A. Mastered
B. Not Mastered

Answer: A

Explanation:
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R

RAC Design Characteristic
=T All hosts per location are configured
- uniformly and all differences or changes Awvailability
are fracked,
The implementation should be easily :
i R5
repeatable. Manageability -
Deployment of system and services should
R4
be automated. Performance
The custom order processing system _
at the primary site must be kept running Recoverability
with no downtime.
| RS Y production servers should be ,
segregated. Security

NEW QUESTION 77
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